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PAPER-II
COMPUTER SCIENCE AND APPLICATIONS

1. Black box testing is not good for detecting the
following type of error :

(A) Logicerror

(B) I1/Oerror :
(C) Datahandling error
(D) Both(B)and(C)

2. Which technique is suitable for detecting database
error in the program ? :

(A) Staticanalysis
(B) Whitebox testing
(C) Blackbox testing
(D) Codereview

3.  The small mistakes that do not impact the correct
working of the software is which type of error ?

(A) Minor (B) Cosmetic
(C) Critical (D) Major

- 4. Cause-Effect Graphing is which type of testing
technique ?

(A) Whitebox

(B) Blackbox

(C) Both(A)and(B)
(D) Neither (A) nor (B)

5. Mutation testing is which type of testing technique

(A) Whitebox
(B) Blackbox
(C) Both(A)and(B)
(D) Neither (A)nor(B)

6.
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10.

The addition of two binary numbers without carries is

same as ------ operation of the numbers :
(A) AND B) OR
(€) XOR (D) NOR

Which of the following binary system has two zeros ?

(A) Signed magnitude
(B) 1’scomplement

- (C) Two’s complement

(D) None

In flip flops which of the following specifies the next
state given the present state and inputs ?

(A) Characteristictable (B)  Excitationtable
(C) Truthtable (D) Statetable
The output functions

X=AXORBXORC
Y=AB+(AXORB).C

are for : :
(A) Full adder (B)  Full subtractor
(C) Halfadder (D)  Multiplier

During addition operation an overflow occurs when :
(A) Carryinto sign bit position is equal to carry out
- ofthe sign bit position !

(B) Carryinto sign bit position is not equal to carry
 outofthe sign bit position

(C) Ifthesize ofthe register is not defined

D)

If one number is positive and another is negative
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11.

12.

13.

14.

15.
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‘Which ofthe followinhg is DML command ?

- B R1UR2—->RlandR1UR2—>R2

Routers operate on, in OSImodel : 18.

(A) Applicationlayer
(B) Transport layer
(C) Physical layer
(D) Network layer

Bridge works on, in OSImodel :
(A) Application layer B) Transportlayer
(C) Datalink layer (D) Network layer

In the layer hierarchy as the data packet moves
from the upper to the lower layers, headers are :

(A) Added (B) Removed
(C) Rearranged (D) Modified

Communication between a computer and a
keyboard involves transmission.
(A) Automatic (B) Half-duplex
(C) Full-duplex (D)  Simplex

Which of the following is not present in TCP /IP
model but present in OSImodel ?

(A) Session layer and presentation layer

(B) Session layer only

(C) Presentation layer only

(D) Application layer

(A) DROP B) CREATE
(C) GRANT D) UPDATE

A relation with set of FDs F is decomposed into two
relations R1 and R2. The decomposition is lossless
if and only if F* contains FD(s) :

(A) RinR2—>RlandRINR2—>R2

(©) RIAR2—RlorRINR2>R2
(D) RIUR2-RlorRIUR25R2

158

19.

20.

21.

22.

23

A distributed DB system should appear like a
centralized database. This property is termed as -----
transparency.

(A) Location (B) Network
(C) Replication (D) Fragmentation

Which one of the following represents the pseudo
transitivity ?

(A) XYY >Z==>X->Z

(B) XY, WY Z=>WX>Z

(C) X->Y,XZ=>X->YZ

D) WYIZ=>W-ZY>Z

A table having non-trivial MVD must have at least---
-- attributes, out of which------ must be multivalued.

a) 3,2 ®B) 43
© 5,2 ®) 33

Reusability of the code can be achieved in C++ using:
(A) Polymorphismonly

(B) Encapsulationonly

(C) Inheritanceonly

(D) Polymorphism and inheritance

Class A, Class B and Class C are derived from class
BASE. What type of inheritance is it ?

(A) Multiple (B)  Multilevel

(C) Hierarchical (D) Single

Which of the following is correct ?

(A) Privatemember is not inheritable and not
accessible in derived class

(B) Protected member is inheritable and also
accessible in derived class _

(C) Bothareinheritable but private isaccessiblei
the derived class

(D) Both are inheritable but protected is not
accessible in the derived class
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94. Incaseof inheritance where both base and derived ‘29. To use a Unix System with a GUI youneed this type

class are having constructors, when an object of of window to enter Unix commands :
derived classis created then . ~ (A) Terminal ' @®) Dialogbox
(A) First constructor of derived class will be (C) Memu D) Command
invoked
B) First constructor of base class willbe h0. Linksare:
nvoked (A) Pipes

(C) Constructor of derived classs will be
executed first followed by base class
) Constructor of base class will be executed

(B) Pointerto other files only
(C) Dummy Slenames in the directory only

first followed by derived class (D) Pointertoother files and dummy filenames in
the directory
5. Incase of operator overloading, operator function
must be : 31. Giventhe following sorting algorithms
1. Staticmember functions @) Insertion
2. Non-static member functions (i) Heapsort
3.  Friend functions ' (i) Mergesort
(A) Only2 @) Onlyl,3 Which of the following arein-place sorting algorithms?
(C) Only2,3 O) AlL2, 3 (A) Only(@) and (i) @) Only@) and (iii)

(C) Only(ii)and(iii) @) () )and (i)
26. Theoperating system manages :

(A) Memoryonly 12 Giventhe following two grammars :
(B) Theprocessor only
©) Filesorly G,:S—>AB|00B
(D) Processor, MEMOTy, file -
B-1

27. Whichofthe following is not acomponent of auser G,:S aOSlS\lSOS\k

account ?

(A) Home directory

B) Password directory Which statementis correct ?

(C) GroupID A G,is unambiguous and G, is unambiguous
©) Kemel B) G,is unambiguous and G,1s ambiguous

(C) G, isambiguous and G, is unambiguous
D) G,is ambiguous and G, 1s ambiguous

78. The superuser {52 umaof UNEX.
(A) Master (B) Supreme
(C) Root ®) President
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33. The context free grammar for the language
L:{b" a"n<m=+3,220,m20 }' 1S
(A) S—bbbA. A—bAa | B;B—>Baj A
(B) S—>bbbA  i:A—bAa | B;B—>Ba | A
(C) S—bbbA bbA|A;A > bAa|B;B—Ba|A
(D) S-»bbbA|bbA|bA|A; A—>bAa|B;
B — Bali
34. Which of the following symbol table information
makes efficient use of memory ?
(A) List (B) Hashtable
(C) Selforganizationlist (D) Searchtree
35. Consider the grammar
S—> AB|SB|AS
A—a
B-ob
To set a string of m terminals, the number of
production to be used is
(A) n? B 2m
s (C) 2m-1 D) m+l
36. The intersection of a context free language and a
regular language
(A) Need notbe aregular
(B) Need notbe context free
(C) Isalways context free
(D) Isalways context sensitive
37. Shiftreduce parsers are
(A) Topdown parsers
(B) Bottom up parsers
(C) Bottom up for reduce and top down for shift
(D) Bottom up for shift and top down for reduce
CMB-33257

39.

40.

38. Thereversepolish notations equivalent to the infix

expression :

(B+C)*D+E)/(F+G+A)
(A)
(B) BC+DE#+FG+A+/
©)
®)

BC+D*E+FG+A+/

BC+D+*E+FGA++/
BC+D+E+F+GA+/

Suppose you are debugging a quick sort or

implementation that is supposed to sort an array in

ascending order. After the first partition step has been

completed, the contents of the array are in the

following order : = 2
4 10 2 15 18 25 23 21

Which of the following statements is correct about

the partition step ?

(A) Thepivotcould have been either 15or 18

(B) The pivot could havebeen 15, but could not
havebeen 18 :

The pivot could have been 18, but could not
havebeen 15
Neither 15 nor 18 could have been the pivot

©)
®)

How many timesis the symbol ‘#’ printed by the call
£00 (4)?

Void £ 00 (int z){
if (z>1){
£00(z/2)
£00(z/2)
}

Count<<"#";

}

@A 3 ®) 4
© 5
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41.

42.

43.

45.

A graphis planar ifand onlyifit does not contain any

subgraph that is isomorphic to within vertices of
degree2 to

(A) K, ,andK,
©) K,,orK;

B) Kuansz !
©) K,,orK,

The number of ways of selecting r objects fromn
objects with unlimited repetitionsis :

(A) P(n,1) ®) P(n+r-1,1)

©) Cm1) ©) C@+r-1,1)
An undirected graph possess an eulerian pathif
and onlyifit is connected and has :

(A)
®)

Either zero or even number of vertices of odd
degree

Either zero or odd number of vertices of even
degree

Either zero or two vertices of even degree

©

(D) Either zero or two vertices of odd degree

Let g and h be the function from the set of integers
to the set of integers defined by g (x) =2x+ 3 and
h(x)=3x+2

Then the composition of gand h, andh and gis
givenas:

(A) 5x+5,5x+5

B) 6x+7,6x+7

(C) 6x+7,6x+11

D) 6x+11,6x+7

Given the relation R ={(2,3),(3,4) }.The minimum
number of ordered pairs that mustbe added to
this set so that the enlarged relation isreflexive,
symmetric and transitiveis:
@A) 7 '

© 5

®) 6
O 4
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46.

47.

48.

49,

50.

The number of elements in the power set of the set

({{1}L1,2 (3.4 }is:

A) 2
©) 8

(B)

® 16

Given an undirected graph G with 51 nodes. The
maximum number of edges that can be included, so
that the graph G has two connected components, is :

(A) 2652 B) 2550
(©) 1326 @) 1275

Linear probing suffers from and

Quadratic probing suffers from in hashing.
(A) Non-uniform clustering, collision

(B) Collision, non-uniform clustering

(C) Primary clustering, secondary clustering

(D) Secondary clustering, primary clustering

Which is the technique used for classification in data
mining? '

(A) Descriptive pattern

(B) Associationrule

(C) Backpropogation algorithm

(D) Regression

and are the two measures of the
offectiveness of an information retrieval system.

(A) Precisionand Confidence
(B) Confidence and Support
(C) Web Crawler and Spider
(D) Precisionand Recall
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